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ELECTRONICS-II = Exam1 = I.ﬁ.prﬂ 5, 2001
Eﬂ'-ﬁ#-Miqtztn * Dr. Erkaya

This 1z & cloded-book, closed-noles exam. Wrile your answer {o the space provided below each question. If you need more space, uze the

back of the sheet and indicate the question number. Read the questions carefully. Do not use any time on any question more than what

you allocate in the beginning of the exam. Good Luck!

ii ha;t neither given nor received unauthorized help with this work; nor do I have reason to believe thdt anybody
se has.

Student 1D : Name: ERICA [ 1 Signature: Mﬂ Grade:
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1. (50 pts) Find the input resistance, output resistance and the voltage gain v, /v, for the amplifier given in
Figurel. (g, =33 mA/V, Rp=5k(}, Rp=250kQ, Rg=1MQ, R;=5k(} )
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50 pts) For the BJT in Figure 2, I = 1.5 mA, hgg = 850, fip = 600 MHz, Cy = 1.5 pF. Find the values of the
~ apadtors Cy, Cs and Cgp mthntthalnwﬂ-dﬂuutnﬂﬁaqmmrhmhrprthmﬂﬂm
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